4. b. Decrease,
because the four
books average
price was $4.58
and this book

is less than the
average, so it
would bring the
average price
down.

1.
138)

2

(38)

(a8)

4

(28]

22)

> *6.
(5)

g

{51)

> *8.
(50)

Number of Students
a. How many boys are in the class? 16 boys

b. How many girls are in the class? 16 girls

What percent of the students have a birthday in one of the months from
January through June? 50%

3. What fraction of the boys have a birthday in one of the months from

April through June? %

a. At the book fair Muhammad bought 4 books. One book cost $3.95.
Another book cost $4.47. The other 2 books cost $4.95 each. What
was the average price per book? $4.58 per book

b. Predict If Muhammed bought another book for $4.25, would you
expect the average price per book to increase or decrease? Explain
your reasoning?

Read the following and answer the questions that follow.

Seven twelfths of the 840 students attended the Spring Concert.

a. What fraction of the students did not attend the Spring Concert? %
b. How many students did not attend the Spring Concert? 350 students

a. Write one trillion in scientific notation. 1 x 102

b. Represent Write 475,000 in scientific notation. 4.75 x 10°

a. Write 7 X 10? in standard form. 700
b. Conclude Compare: 2.5 X 10°(>) 2.5 x 10°

Connect Use unit multipliers to perform the following conversions:

a. 35yardstofeet 3 ft = 1yd) 35yd - 13;; = 105 ft

b. 2000 cmtom (100 cm = 1 m) 2000 cm - 555 = 20 m



> 9

@7

10

(50)

1

(48)

(48)

13

(32)

(19,37)

»* 15,
(53)

Use prime factorization to find the least common multiple of 54
and 36. 108

A car traveling 62 miles per hour is moving at a speed of about how
many kilometers per hour? Use a unit multiplier to convert the rate.
(1km=0.62mi) 62mi  1km _ 100km

1hr 0.62 mi 1hr
Complete the table.
Fraction | Decimal | Percent
a. 1} b. 1.5 150%
c.= d.0.15 15%
Write each number as a percent:
a.; 80% b. 0.06 6%

A lilac bush is 2 m tall. A rose bush is 165 cm tall. The lilac bush is how
many centimeters taller than the rose bush? 35 cm

Refer to this figure to answer a and b. 8
Dimensions are in feet. All angles are right
angles. 7

a. What is the area of the figure? 104 ft

b. What is the perimeter of the figure? 46 ft
12

Analyze In the school Marching Band the ratio of trumpet players to
drummers was 5 to 2. If there were six drummers in the Marching Band,
how many trumpet players were there? 15 trumpet players



Solve:

16. 18 _ 90 s5pp
@9 100 P

18. 8 =725+m 0.75
(35)

Simplify:
» 20. V81 + 92

(20)

* 1
%%) 3yd 1ft 73in.

+  2ft6gin.
4yd1ft2in.

= MY 4
rze%g) 85 (12 35) I

P+ 25,

(35, 47)

— 2% 58

17.

(39)

19.

(35)

(52)

» 23.

(26, 30)

28

- oo
—
ol

D On 0.15

I
—A

.16 +-4+-2+3X4 14

2 D 2 Al 1
123+(56 : 23) 155

Analyze 10.6 + 4.2 + 16.4 + (3.875 X 10") 69.95

26. Estimate: 6.85 X 4-1-

(29, 33) 16



p* 27.
(52)

p* 28.

(44)

29

(14, 43).

» 30

(40)

Conclude Find the value of g—‘; whena=6,b=0.9,andc=5. 1.2

Analyze Petersen needed to pack 1000 eggs into flats that held
2; dozen eggs. How many flats could he fill? 33 flats

If there is one chance in five of picking a red marble, then what is the
probability of not picking a red marble? Write the probablity as a fraction
and as a decimal. P(not red) = ; = 0.8

Find the measures of angles a, b, and c in this figure:

60° b a
mza = 50% msb = 40°;, msc = 80°




Building Power

facts | Power UpL

Calculation: 4 X $4.50
Decimals: 12.75 - 10
12 _

Equivalent Fractions:

mental
math

om0

Measurement: Convert 1.5 m tocm.
Power/Roots: /900 — 3°

Fractional Parts: % of 90

-~ o 2 60 U o

. Probability: How many different ways can you arrange the digits
9,4,3,7,27

h. Calculation: Mentally perform each calculation:

3,2 3_2 3,2 8.2
a5 5

4 5 4 5 4 "

«Q




Building Power

facts

mental

math

Power Up L
@alculation: 4 X $4.50 $18.00

Q@ -~ & O 0 U

Decimals: 12.75 + 10 1.275 |.2'D
12 9

Equivalent Fractions: y =3 8
Measurement: Convert 1.5 mtocm. 150 cm
Power/Roots: /900 —

Fractional Parts: % of 90 27

Probability: How many different ways can you arrange the digits
9,4,3,7,27 120
7

T sy 48 7 8. 47
. Calculation: Mentally perform each calculation: 155, 55,15, 135

.2 WoE WP w.
475 45 4°5 475



Write the equivalent decimal and percent for each fraction.

Fraction Decimal Percent Fraction Decimal Percent
Nl 1
2 8
1 1
3 10
2 3
3 10
i 9
4 10
3 =i
4 100
il L}
5 13




Facts Write the equivalent decimal and percent for each fraction.

Fraction Decimal Percent Fraction Decimal Percent
1 0.5 50% 1 0.125 1219
§ 5 (3] 8 4 2 0
i 2 1o W 0
] 0.3 335% i 0.1 10%
2 3 20 3 0
2 0.6 662% 2 0.3 30%
1 0.25 25% 3 0.9 90%
4 : 10 :

3 0.75 75% = 0.01 1%
4 : 100 '
g&% 0.2 20% 1 % 15 150%
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In Lesson 53, we solved ratio word problems by using proportions. We can
solve rate word problems in the same way. \ q‘ )\

. Pett

s-his car at an average speed of 55 miles V/:lou
how far will he drive in 3 hours? ~\V/ m | 7

@ We can make a ratio bexto solve this problem.

iy | fhaliss) (9 o, M%ﬂzﬁﬁ
WuwW [T 3T |— |\ /D8 | |




Example 2
If Mrs. lkeda’s car averages 24 miles allon, then about how many
gallons of gas will she use on a trip of 300 miles?
Y
: iouen 4200
AN g — S
|

=
S
C




| Example 3

$68.00.

A =
T Vade | AN
$TX LD ﬁiﬁ

)\

]

sWhat is her hourly rate of pay%)% ‘1)_D /[h\/

Use her hourly rate of pay to find how much she will earn if she

works for 30 hours. $a% DD

330 | X

F\»
2

&

Hana works for 8 hours at a sporting goods store and earns a total of

X



Practice Set | Use a ratio box to help you selve these rate word problems.
On a 600-mile trip, Dixon’s car averag

gallon. @

a. The trip took how many hours to complete? i %W

an@d 30 miles per

b. During the trip the car used how many gallons of gas?

T Thaw] 2[R | 20 059
W 0 |dAOD| w 2D \QDY)J /kzgg
WL Y Lo

oo 20 a0




Practice Set | Use a ratio box to help you solve these rate word problems.
Jenna earned $68.80 working 8 hours. b( . 7)

c. \What is Jenna'’s hourly rate of pay?
d./How much would Jenna earn working 20 hours?

3
N




Practice Set Use a ratio box to help you solve these rate word problems.

The price of one type of cheese is $2.60 per pound.
e. What is the cost of a 2.5-pound package of cheese?

f. Explain How could we find the cost of a half-pound package of
cheese?



Practice Set | Use a ratio box to help you solve these rate word problems.

The price of one type of cheese is $2.60 per pound.
e. What is the cost of a 2.5-pound package of cheese?

f. Explain How could we find the cost of a half-pound package of
cheese?




Practice Set Use a ratio box to help you solve these rate word problems.

The price of one type of cheese is $2.60 per pound.
e. What is the cost of a 2.5-pound package of cheese?

f. Explain How could we find the cost of a half-pound package of
cheese?



